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1.	If f (x) = cos x, and f [image: ] = – 2, find f (x).
	Working:
	







	
	Answer:
......................................................................


(Total 4 marks)

 
2.	a.)    Let f (x) = 1 – x2. Given that f (3) = 0, find f (x).

      b.)  Find the definite integral  using the fundamental theorem of calculus (lighting strike!).
	Working:
	








	
	Answer:
a. ..............................................................
b. ..............................................................


(Total 4 marks)
3.	The derivative of the function f is given by f (x) = [image: ] – 0.5 sin x, for x  –1.
	The graph of f passes through the point (0, 2). Find an expression for f (x).
	Working:
	











	
	Answer:
......................................................................


(Total 6 marks)



4.	The function f is given by f (x) = 2sin (5x – 3).
(a)	Find f " (x).
(b)	Write down [image: ].
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
.....................................................................................................................................
(Total 6 marks)



5.	It is given that [image: ]= x3+2x – 1 and that y = 13 when x = 2.
	Find y in terms of x.
	Working:
	

	
	Answer:
..................................................................


(Total 6 marks)

 
6.	Let f (x) = (3x + 4)5. Find
(a)	f (x);
(b)	[image: ]
	Working:
	

	
	Answers:
(a)	..................................................................
(b)	..................................................................


(Total 6 marks)
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